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General Instructions :
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(i)  Answers to questions carrying 1 mark may be from one word to
one sentence.

(it)  Answers to questions carrying 3 marks may be from 50 — 75 words.
(iit)  Answers to questions carrying 4 — 5 marks may be about 150 words.
(iv) Answers to questions carrying 6 marks may be about 200 words.
(v)  Attempt all parts of a question together.
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Name the type of plan which provides the broad contours of an
organisation’s business.
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‘Planning always leads to success.” Do you agree ? Give reason in
support of your answer.
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F AfFE ATFAER YA § @ S § |

Identify the nature of management when it is practised as personal
application of existing knowledge to achieve desired results.
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Name the level of management at which the managers are
responsible for implementing and controlling the plans and strategies
of the organisation.




5. a0 & IR F T W9E % ®9 F RN & #Y aaRC | : 1
Give the meaning of ‘Placement’ as a step in the process of staffing.

6. ‘§EiwUr T ufenfya FfSC | 1
Define ‘communication’. '

7. 9RdE wfaufa @ fafrm & (96) & 5 @ faemes s & e #ife | ]

State any one ‘Developmental function’ of Securities and Exchange
Board of India (SEBI).

8. TwdE st e W TER (IR T FE THES % Ifedq) T e
for MU fHd TS A &1 oo FifGT | 1

State any one advantage provided by Over The Counter Exchange of
India.

9. 3I@ FINU & ‘g T @d-fauT 59 T9R SUuRE ST & 9Ed &
fte fromen 2 1

State how ‘Self-regulation by business’ acts as a means of Consumer
Protection.

10. @m&mmﬂq@ﬂaﬁwamr@zéﬁ%aﬁﬁﬁ@mﬂaﬁ%@

ITEged 9dsy | 1

Give any one responsibility of a consumer in addition to obtaining a
cash receipt while purchasing a washing machine.

11. 9EmET Y&y & fag fog R

1)  EE¥El % SPGH YA UE YHE YO ¥ 9eEe 8id 8, ol _
(i) YOS B TCAd AT FH SEVIRAS B U FA B AT F & | 3

Explain how principles of management :

(1) help in optimum utilization of resources and effective
administration, and :

(ii) help the managers in meeting changing environment
requirements.
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Why is training important for the employees ? State any three
reasons.
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What is meant by ‘Financial Planning’ ? State any two points of its
importance.

U W & BE F 9 T & S Al @ | 39 sifusan oW i & &
fau 98 ™R W IRy w6 famor @ fvia foar e 3aes & 3ithd and &9 &

T |
(i)  H9E g’ S Y RqU-Sa e qge—T |
() fr= smem-fogall W 39 = & 99gmwT ¢

() 7 Fs-fag

@) WA U 3R

Mansi, a shoe manufacturer for school students, decided to maximise
her profit by producing and distributing at large scale and thereby
reducing the average cost of production.

(i) Identify the Marketing Management philosophy adopted by
Mansi.

(i1))  Explain this philosophy on the basis of
(a) Main Focus
(b)  Means and Ends

ARl & HEYIha-3hH (g & f&gl diF ar=adisll & q9emET |

Explain any three assumptions of Maslow’s need hierarchy theory.

A T F IH Tl H GAIRY S T FHAK H HAF Jodih qh TG &
fo geifyes e ok 2 |

Explain that technique of scientific management which is the strongest
motivator for a worker to reach standard performance.

TE & e F F AEd & [l 9R fagel @ e i |

State any four points of importance of organising function of
management.



18. fRw-ge=l fofg dderis ff & g% & T suSmla ff | SR
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Investment decision can be long-term or short-term. Explain long-term
investment decision and state any two factors affecting this decision.

19. frefafed Sudicn fyerl’ @ THemRy - 4
(31)  gEAT & AGER
@ &fqgfa &1 AfEER
Explain the following ‘Rights of Consumers’ :

(a) Right to be informed
(b)  Right to seek redressal
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Atul is working in an organisation. After every three months his
manager transfers him from one department to another so that he
may gain a broader understanding of all the departments of the
organisation.

Name and explain the method of training Atul is undergoing.

21. TART fF WY 69 YER G B gl @ T4 TAS & famw T w@EE g
2 5
Explain how management ‘increases efficiency’ and ‘helps in the
development of society’.

22. W gl uw frgell &1 oo FIfvT S 7@ WE w0 § 5 Seafus wie @t
Y {59 YR Yaua & HeEd &l g | 5

State any five points which clarify how understanding of Business
Environment helps the managers.

23. e &t fol o9 dimel 1 S #ifST | ‘ 5

State any five limitations of Planning.
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Pranav is engaged in ‘Transport-Business’. Identify the working
capital requirements of Pranav stating the reason in support of your
answer. Pranav also wants to expand and diversify his
Transport-Business. Explain any two factors that will affect his fixed
capital requirements.

frl orT oMurl W ‘fagmua’ wd ‘=Hfea fama’ § srqie sifew |
Differentiate between ‘Advertising’ and ‘Personal Selling’ on any five
bases.

‘it e’ &1 ¥ 34 2 ? uEie ded & R O ol e R Q@
gl &1 Ieoig HifeT |
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A T4 §F AT |

What is meant by ‘Formal Organisation’ ? State any three advantages
and any two limitations of ‘Formal Organisation’.
OR

‘Delegation is the entrustment of responsibility and authority to
another and the creation of accountability for performance.’ In the
light of this statement identify and explain the essential elements of
delegation.

g T A R ? TH AW a1 F e IR P vl HiT |

o
WY % TE a9 § e wwaﬁ%?m%ﬁ%ﬁﬁs’faﬂﬁgﬁ
F Ui ST |

What is meant by ‘Leadership’ ? Describe any four qualities of a good
leader.

OR

What is meant by ‘Directing’ as a function of management ? Describe
any four points of its importance.
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What is meant by ‘Budgetary Control’ ? State any five advantages of
Budgetary Control.

OR

What is meant by ‘Controlling’ ? State any five points highlighting
the importance of Controlling.

‘Wi e & frdl IR FE B e Sifeg |

HYT
‘Fafies ISR ¥ AU e & yadq & 5 IR S it smen #ifsT
Explain any four functions of ‘Stock Exchange’.

OR

Explain any four methods of floatation of new issue in the ‘Primary
Market’.

ITAA It a1 i fafi suRl W fEEr S @ 1 Sl @ femee = 9
TF 2 | 39 9 ¥ R I TR & IR & A ST |

. Al
T3 FI IAEH F IUAER  TF IR & fau s o § gu wes ffea
2 | T Y & e S |
Consumer Products are classified on different basis. ‘Durability of the

Product’ is one of them. Explain any three types of products in this
category.

OR

Physical distribution includes some components for physically moving
the goods from manufacturers to the customers. Explain these
components. : ;



